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GRAXNITY

WHAT IS GRAVITY?

Graviiy is the Torce
tThat attracts a body
fToward the center of
tThe earth, or tToward
any other phusical
body having mass.

Simply stated, the
force of attraction
between all masses in
tThe universealt




VISUALIZE
GRAVITY?

IT 15 simple fTo
visualise gravity
as a sheet with a
ball on o of it
as you get closer
o the ball the

slope 1nCcCreases
and as the slope
incCreases so does
gravity.

GRANITY



New Horizons MVIC Color Imager
Distance from Pluto: 54.8 million km
Date: 2015-05-29 11:38 UTC

So if gravitu is constantlu Pluto-centric view

tugging on everything why isn't

it sucked into the earth?

The velociiuy of objects means | |
that they can zip buy a planet

because they are traveling ‘
faster than gravituy can tug of

they aren't traveling fast

enough and get sucked in.

DOrbits are special because they

combine both ftraits in a happu

balance.

They are fast enough to avoid

getting sucked in but they

cannot truly escape the graviity

of the planet and are guickly

sucked back in missing the

object theuy orbit.

This happens again and again

until it forms a steaduy motion

around the mass known as an

orbit.



Graviity is registered as a dependent?

Gravity depends on three factors:

1: +the mass of object one
Z: The mass of object two
2: The distance between both masses
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The inverse sguare lawll!

The i1nverse square law states that everuy Time
you double the distance between tvwo objects the
gravitational force decreases by a factor of x4
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My name is Jif. My ewvil brother Gif has decided o
take over the universe, I nesed your help to use the
amazing powery of gravituy o defeat him!?




E = KE + PE

E = mvZ - GMm-R = 0O
Ans. wvesc = JJ 2GHM°R

G = 6.67%10-11 Hm2 ko2
Fo=GMm.- " 2

PEg=—-GMm. "+

Remember PEg is
negative

Me=5.97x10"24kg
Re=6.37x10"6&m
FC=mw™2.-r
L=mr " 2w=mwvr

V=2{(p1l)r. T




Oh no, Gif's robot 1s destrouing the

city, use the tools you jJjust got tTo
help defeat him'?t

The robot is super tough and will take a
force of 10000M +o destrouy!?

Fortunately enough we have a helicopter
hovering aover the city carrying a weight of .
1000Kkg. EE

We need to know how high the helicopter has
to fly over the:robot's giant head : to destroy

it. Hurru:the city is counting on you! e
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CongratTulations The roboT has been
destroyed and the citu has been
saved!?

You fTigured out we needed the

helicopter to fluy ___ _m aver Tl
robot to destroygy 1t
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Bomb—voyage




Wow you really did it!!!

You pulled 1t
Toge ther,
prevented a
disaster and got

11.Z7 km-s & sSsome
cake yaylf't'?




Oh mno 11t's a kEkNnlTta?

different is 1172
A. twice as strong
B. twice as weak

. Tour times as weak

d.







Follower AcCcguired: Is ewton’t

Isaac Hewiton was the one who
invented graviiy in the
first place.
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Isaac Hewton

S of the
i1entific Re
ECOver Le in opt
and tics, HE
oped T iples of
ern phus

Invented T - s laws of
motTi1on
e The lav - l'sal "

grawvits = o " |
rhusicis - i¥e up a EE? . B
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Eratosthenes

tThe first p n to calculate
tThe circum nce of the Earth
which he by applglng a

measuring "system using stadia,
a 5+and%rd unit of measure
+ime period. His

accurate. H
o calculate
Earth's axis Ca
remarkable accu
Additionally, he
accurately calcul
distance from Tthe E th to the
Sun and invented th
day. 41 He created + first map
of the world, incurpgﬁafing
r

parallels and meridi = based
on tThe available geo aphic
knowledge of his era.


https://en.wikipedia.org/wiki/History_of_geodesy#Hellenic_world
https://en.wikipedia.org/wiki/Stadion_(unit)
https://en.wikipedia.org/wiki/Axial_tilt#Obliquity_of_the_ecliptic_.28Earth.27s_axial_tilt.29
https://en.wikipedia.org/wiki/Axial_tilt#Obliquity_of_the_ecliptic_.28Earth.27s_axial_tilt.29
https://en.wikipedia.org/wiki/Astronomical_unit
https://en.wikipedia.org/wiki/Astronomical_unit
https://en.wikipedia.org/wiki/Leap_day
https://en.wikipedia.org/wiki/Leap_day
https://en.wikipedia.org/wiki/Eratosthenes#cite_note-4
https://en.wikipedia.org/wiki/Ancient_world_maps#Eratosthenes
https://en.wikipedia.org/wiki/Ancient_world_maps#Eratosthenes
https://en.wikipedia.org/wiki/Circle_of_latitude
https://en.wikipedia.org/wiki/Longitude

Copernicus

The publication of
Copernicus' model in his
book De revolutionibus
orbium coelestium (On the
Revolutions of the
Celestial S5pheres), Just
before his death i1in 1543,
was a major event in the
history

Trigger 1l
.FEEHEEHF
iAmportan

tThe Scientific Revolution.


https://en.wikipedia.org/wiki/De_revolutionibus_orbium_coelestium
https://en.wikipedia.org/wiki/De_revolutionibus_orbium_coelestium
https://en.wikipedia.org/wiki/History_of_science
https://en.wikipedia.org/wiki/Copernican_Revolution
https://en.wikipedia.org/wiki/Copernican_Revolution
https://en.wikipedia.org/wiki/Scientific_Revolution
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